
Instrucciones para el montaje
Montageanleiting
Assembling manual
Notice de montage
Montagehandleiding

 4
76

 
 

57
00

 

8070
Veerbank
Coin à ressorts
Federbank
Balance bench
Banco de equilibrio

EUROPLAY  nv
Eegene 9
B-9200 DENDERMONDE
tel. 32.52.22 66 22
fax.32.52.22 67 22
www.europlay.eu

Leeftijd:
Age: 4-15 
Age group:
Alter:
Edad:

VALHOOGTE / HAUTEUR DE CHUTE
FALL HEIGHT / FALLHÖHE / ALTURA DE CAÍDA

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA / 
SICHERHEITSABSTAND / ZONA DE SEGURIDAD

1/8
Dat.:
Page:

10/10/2012

AFMETINGEN
DIMENSIONS
MASSE
DIMENSIONES
L : 2700
H:   476
Br: 2700



4x 4x

4x1x

15x

M10 M10 M10

5x
4x

5x

1x

4x

4x

M10

8x

M10

M10

4x

M10x25

4x

M10x30
8x

15x 15x

M10

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 2 / 8

Benodigdheden  -- Liste des pièces -- Requisites -- Benötigtes -- Accesorios

Dat.:8070



500mm

 
600 

 1850 

 3850 
 2850 

 1
85

0 

 2
85

0 
 3

85
0 

 5700 

 1500 

 R1500  1
50

0 

 1500 

 1
50

0 

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 3 / 8

Dat.:
8070



M10x30
(4x)

M10x25
(4x)

M10
(3x)

M10
(3x)

M10
(3x)

2

1

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 4 / 8

Dat.:
8070



4x 1x

3

4

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 5 / 8

Dat.:
8070



 2000 

 2
00

0 

 1414 

 14
14

 

 1414 

 14
14

 

5

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 6 / 8

Dat.:
8070



Fig.1

M8x90

M10

Fig.16

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 7 / 8

Dat.:
8070



 2
00

 
 2

00
 

7

8

9 Verboden het toestel op verharde ondergrond te plaatsen
Il est interdit de poser le jeu sur un sol rigide
It is forbidden to install the item on a hard surface
Està prohibido poner el juego sobre el suelo firme

Montagehandleiding  --  Assembling manual 
Instrucciones para el montaje

Notice de montage -- Montageanleiting

10/10/2012

Page: 8 / 8

Dat.:
8070


	p1
	Drawing View1
	Drawing View2
	Drawing View3

	p2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View42

	p3
	Drawing View16
	Drawing View52

	p4
	Drawing View19
	Drawing View22
	Drawing View23
	Drawing View25
	Drawing View28
	Drawing View49
	Drawing View53

	p5
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34

	p6
	Drawing View35
	Drawing View36

	p7
	Drawing View37
	Drawing View38

	p8
	Drawing View40
	Drawing View41


